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QUESTION 1

In terms of scalability, flexibility, and capacity, which of the following would overcome 4G limitations? 

A. Service based architecture, stateless network functions, Cloud-ready network functions and modular network
functions. 

B. Client/Server architecture, stateless network functions, Cloud-ready network functions and modular network
functions. 

C. Client/Server architecture, Cloud-ready network functions, and modular network functions. 

Correct Answer: B 

 

QUESTION 2

What are the benefits of the stateless or state-efficient aspects of network functions? 

A. Avoid massive database corruption 

B. Provide real time access to the databases 

C. Enable scalability and extreme resiliency in the 5G Core 

D. Ensure the database integrity 

Correct Answer: C 

Reference: https://www.nokia.com/about-us/news/releases/2018/01/29/nokia-implements-future-xnetwork-architecture-
for-5g-to-deliver-breakthrough-network-performance-and-reduce-costs/ 

 

QUESTION 3

Which of the following statements about Network Slicing are correct? (Choose three.) 

A. Multiple slices create multiple virtual network instances. 

B. Unique Quality of Service can be allocated to a given slice. 

C. Specific resources can be allocated to a given slice. 

D. Network Slicing is a way to physically partition the common network infrastructure. 

Correct Answer: ABC 

 

QUESTION 4

In a 5G Transport network, the encryption protection of the user and control plane are provided by which of the
following? 
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A. IPSec 

B. Access Control List 

C. SSH 

D. X25 

Correct Answer: A 

Reference: https://www.ericsson.com/en/security/a-guide-to-5g-network-security 

 

QUESTION 5

Is it possible for a User Equipment to connect simultaneously to multiple slices in 5G? 

A. No 

B. Yes 

Correct Answer: B 

Reference: https://www.researchgate.net/
publication/340976923_Slice_Selection_In_5G_Networks_Novel_Approach_for_Accessing_Multiple_Slice
s_Simultaneously 
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